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QUESTION 1

You use path expressions (associations) in your Core Data Services to combine entities instead of using SQL joins.
What is a benefit to use these associations? 

A. It increases the performance of the query. 

B. It enforces referential constraint. 

C. It improves the writability and readability of the query. 

D. It invokes authorization checks on database level. 

Correct Answer: C 

 

QUESTION 2

You configure an OData service for a transactional SAPUI5 application What is the default data access behavior of the
OData service? 

A. Read: Yes Create: No Update. Yes Delete No 

B. Read: Yes Create: Yes Update: Yes Delete. No 

C. Read: Yes Create: No Update: No Delete: No 

D. Read: Yes Create: Yes Update: Yes Delete: Yes 

Correct Answer: D 

 

QUESTION 3

You need to view the data model exposed by an OData V2 service. What must you append to the service URL? 

A. $servicedefinition 

B. $schema 

C. $metadata 

D. $format 

Correct Answer: C 

 

QUESTION 4

Which of the following are characteristics of an SAP HANA Deployment Infrastructure container? Note: There are 3
correct answers to this question. 
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A. It is the same as a tenant database. 

B. It is logically similar to an SAP HANA schema. 

C. It contains table and view objects. 

D. It performs version management of runtime artifacts. 

E. It is created by a container-specific technical user. 

Correct Answer: BCE 

 

QUESTION 5

In a calculation view, what are the different types of input mapping available in Table Function? There are 2 correct
answers to this question. 

A. Formula 

B. Data Source Column 

C. Variable 

D. Constant 

Correct Answer: BD 

 

QUESTION 6

A user is dropped with the "cascade" option. The user schema also contains objects owned by other users, or on which
other users have privileges. What happens to the objects? There are 2 correct answers to this question. 

A. The objects owned by other users are NOT dropped. 

B. The objects owned by other users are dropped. 

C. The objects on which other users have privileges are dropped. 

D. The objects on which other users have privileges are NOT dropped. 

Correct Answer: BC 

 

QUESTION 7

You need to create a native SAP HANA application that fully leverages the SAP HANA platform. How do you implement
data-intensive calculations? 

A. Push the calculations onto the database layer 

B. Push the calculations onto the application layer 
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C. Push the calculations onto the presentation layer 

D. Distribute calculations between application layer and presentation layer 

Correct Answer: A 

 

QUESTION 8

What statement must you insert to the following OData service to complete the navigation definition from the customer
entity set to the corresponding sales orders? Service{ "sample.odata;; customer" as "Customer" navigates
("Customer_Orders" as "toOrders");"sample.odata: salesorders" as "Orders";} 

A. Key specification 

B. Aggregation 

C. Join condition 

D. Association 

Correct Answer: D 

 

 

QUESTION 9

You create triggers using the SQL Console. Where are the triggers stored? 

A. Repository 

B. Application server 

C. Package 

D. Catalog 

Correct Answer: D 

 

QUESTION 10

Which of the following are characteristics of database procedures? 

A. Database procedures can have both input and output parameters; however, a parameter CANNOT be both input and
output. 

B. Database procedures can have several output parameters, and a mix of both scalar and table types is possible. 

C. If, in the database procedure header, you use the READS SQL DATA option, then INSERT statements are
prohibited; however, dynamic SQL is allowed. 

D. If, in the database procedure header, you use the SQL SECURITY INVOKER option, then only the owner of the
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procedure can start it. 

Correct Answer: B 

 

 

QUESTION 11

You work on a multi-target application that uses the SAP HANA Deployment Infrastructure (HDI). Which operations can
you perform in the SAP Web IDE for SAP HANA? There are 2 correct answers to this question. 

A. Create objects in the SAP HANA repository. 

B. Choose the supported SAP HANA versions. 

C. Configure the artifact namespaces. 

D. Deploy HTML5 modules to the SAP HANA database. 

Correct Answer: AD 

 

QUESTION 12

In application development with XS advanced, which of the following entities belong to a specific SPACE? There are 2
correct answers to this question. 

A. Applications 

B. Processes 

C. Users 

D. Organizations 

Correct Answer: CD 

 

QUESTION 13

You define exception handling in a SQLScript procedure. What can you use declare exit handlers for? Note: There are 2
correct answers to this question. 

A. Specific SQL error codes 

B. Specific SQL conditions 

C. Generic SQL conditions 

D. Generic SQL exceptions 

Correct Answer: AB 
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QUESTION 14

Which SAP HANA extended application services, advanced model (XS advanced) tools can you use to retrieve the URL
for the SAP Web IDE for SAP HANA? Note: There are 2 correct answers to this question. 

A. advanced Command Line client tool 

B. XS advanced Controller Start Screen 

C. Organization and Space Management tool 

D. Runtime tool 

Correct Answer: AB 

 

QUESTION 15

You create an SAP HANA extended application services, advanced model (XS advanced) multi-target application. What
does the mta.yaml file contain? 

A. The plugin name and version for every supported file suffix 

B. The Node.js package definition with dependencies and initial run configurations 

C. The application global elements, modules, resources, properties , and parameters 

D. The application router description with the authentication methods and access routes 

Correct Answer: C 
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